e

CRIERG/REQRAE/ 2

K @ =X

e & 2 B SRS/ RIRE L/EEETE - 1 K-t 2
ZEMEE  HE1 05 (FM35MUT) . 1By ik . MEE: 1,050 =
Z H & W A% B #H E B O £ % iBm &
EEAMR  [OEEERE 45, 400 1.500] A 68, 100
EiEAGR  [VEE 40, 000 25000 A 100, 000
EEAGR  [DEXER 29,700 20000 A 59, 400
HBRAE T %%[ e s 227,500]  8.000] 9% 18, 200
EIEERE gﬁﬂﬁg . 227, 500 2,000 % 4,550
MEE *ﬁfﬁ pE 227,500  2.500] % 5, 687
BEEER  [TERS lwues ux 245,700 9.000| % 22,113
g 278, 050
WE®E 278, 050 1,050 291,952
aiteE 291, 952
1RYYeE 29, 190( E & 4 #T




iRl AISXRE/RuAS/FMRE /MEXEE

K @ =X

F1-N4-K1=

ERALE  HhEe S-1/500 0. 1Kmsy). 0 05Ky (i (£ EMERS - 0.64) . HIEE : 1400
Z H % M - B % B #H E B O £ % iBm &
EEAMR  [OEEERE 45, 400 0.192] A 8 716(0.30 x 0.64 = 0,192
EiEAGR  [VEE 10,000 o128 A 5.120[0.20 x 0.64 = 0.128
EEAGR  [DEXER 29,700 0.128) A 3.801]0.20 x 0.64 = 0.128
HBRAE T %%[ e L 17,637 6.500] % 1,146
EIEERE gﬁﬂﬁg o 17, 637 1.000] % 176
MEE *ﬁfﬁ bE i 17, 637 20000 9% 352
BEEER  [TERt twues u= 18,783| 5000 % 939
g 20, 250
WEE 20, 250 1. 400 28, 350
aEteE 28, 350
0. 05Kni 2% Y &8 28, 350

- 17 -




ERFER - AIEXF/BMAS/RAE /SIS

K @ =X

F1-M4-K25

BREEEE AL S-1/500 0. 1Kmas ). 0. 05Kk U feffide  (PEEBMIERS : 0.64) . HEE : 1400
Z H % M - B % B B = B O £ % iBm &
EREAGE [ 20,000  3.904] A 156, 160(6.10 x 0.64 = 3.904
EEAGR [ VERER 29,700 1084 A 58,024/3.10 x 0.64 = 1.984
EEAGE 5{"@%3“5** 29,700 6.016] A 178,675(9.40 x 0.64 = 6.016
mgAnr (D07 29, 500 5048 A 154,816/8. 20 x 0.64 = 5.248
MR %@ﬁéﬁ% . 548, 575 6.500] % 35, 657
mEmmn  [BEVESS 548, 575 1.000] % 5, 485
M kol 548, 575 2000 % 10,971
B EER *ﬂ:g% Ranes s 584, 232 5000 % 29, 211
N 629, 899
BEE 629, 899 1. 400 881, 858
aeE 881, 858
0. 05Knis Y £48 881, 858

- 18 -




iRl - AISXRE/RMAS/BMAE /RERSE

K @ =X

F1-M4-HK35

BREREE  BAE S=1/500 0. 1KmM Y. 0.05Km% Y KiliE (ERBMERS : 0.64) . BEE : 1.400
Z H % M - B % B B = B O £ % iBm &
EiEAGE [V 40, 000 0.960] A 38, 400]1.50 x 0.64 = 0. 960
EEAGR [ VERER 29, 700 2240 A 66, 528]3.50 x 0,64 = 2.240
wen (S 104,928] 6500 % 6,820
mEaman  [BEVESS 104,928|  1.000] % 1,049
TSt M nx 104, 928 2,000 % 2,098
mraen  MEERN.cee a 111,748|  5.000] % 5, 587
o E 120, 482
BEE 120, 482 1. 400 168, 674
BHSE 168, 674
0.05Kmi 4 Y &48 168, 674

- 19 -




EXMER - AIEXE/TAE/RMBE /BUIEMAT -977/0DIERK

K @ =X

F1-MN4-K45

BREAELE | BbAE S-1/500 0. 1Km b . 005K U KAl (£ BAERS : 0.64) . HIEE : 1.400
Z H % M - B % B B = B O £ % iBm &
EiEAGE [V 40, 000 0.896| A 35,840(1. 40 x 0.64 = 0. 896
EEAGR [ VERER 29700  0.768] A 22.809(1.20 x 0.64 = 0.768
wasn PR . 58,649)  6.500 % 3,812
mEama  [BEVESS 58,649  1.000] % 586
TSt M nx 58, 649 2,000 % 1,172
mraen  MEERN. cee La 62461 5000 % 3,123
g 67, 342
BEE 67,342 1. 400 04,278
BHSE 94,278
0.05Kni % Y &4 04, 278

- 20 -




K @ =X

EREY MBS BRAE EEAE RERAAE ~ oo
e Tk ), 0260m. #E1/100, #1/100, 904} BBER1 » A, 1Kn&Y feifik . WIESR : 1.740
Z H % M - B % B #H E B O £ % iBm &
EiEAGE [V 40, 000 0.800 A 32,000
EEAGR [ VERER 20 700] 2200 A 65, 340
EEAfE  |[OEDF 29, 500 1.700] A 50, 150
wwen  [BEERL 147,49 2,000 % 2,949
TSt M nx 147, 490 3.500] % 5,162
mraen  MEERN.cee a 150,439 10.000] % 15, 043
g 170, 644
BEE 170, 644 1,740 296, 920
aitemE 296, 920
1Kn Y £48 296, 900| BT 4 7

- 38 -



K @ =X

(ERAER BB/ BAANE/AENE AenE o ~ oo faE
EEMEEE - Tkm= Y, 1E60m, #1/100, 4%1/100, /0y4 b BA#R1 » A&, 1KmE Y (Kffik . fHIESE :1.740
Z H % M - B % B B = B O £ % iBm &
EiEAGE [V 40, 000 1.400] A 56, 000
EiEANE  [UERER 29, 700 0.900 A 26,730
s BRER. 82,73 2000 9% 1,654
i {g*ﬂf% e 82,730 3.500 % 2,895
mreEg (EEE uies ux 84,384|  10.000[ % 8, 438
N E 95,717
BE® 95,717 1.740 166, 547
&iteiE 166, 547
1Kn Y £48 166, 500| 51 %0 4 47

-39 -




